C:h Distributing Line Plot Values Name:

Solve each problem. Answers
1) Theline plot below showstheamount of  2) Theline plot below shows the distance (in
liquid (in liters) in different containers. miles) that each member of arelay race 1.
g travelled.
=5 m
|>i §_ 2.
X = %
X % X 0 x ox N
1 2 3 4 5 5 X X = 3
s s T s s a 1/4 2/4 3/4 474 g
& 4,
Find the amount of liquid each container .
- How far would each person have run if the
would haveif if the total amount were dig digributed 2 5,
redistributed equally. IStances were distribuited eventy
6.
3) Theline plot below showsthe poundsof  4) Theline plot below shows the weight (in
candy a group of friends received. tons) of boxes on pallets.
m
8
X g X 3
1
X X X X X X X =
X X X IE‘ 1 2 3 E
x  x x = 75 73 7 @
a
A A . .
87378 If the weight were redistributed evenly,
) how much weight would be on each pallet?
If they split the total amount of candy
evenly, how much would each friend get?
5) Theline plot below showstheweight (in  6) Nancy tore a sheet of paper into different
grams) of vitamin bottles. length pieces. The line plot below shows
m the length (in inches) of each piece.
x g 7
X X 1 X >
[N X
X X X w X I
S =
Y % % s x X X X 3
If you were to redistribute the vitamins, so
each bottle weighed the same amount, how If she had tore the sheet into equal sized
heavy would each bottle be? pieces, how long would each piece be?
1-6 [83[67]50(33[17] 0 |
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Distributing Line Plot Values Name. Answer Key
Solve each problem. Answers
1) Theline plot below showstheamount of  2) Theline plot below shows the distance (in 9
liquid (in liters) in different containers. miles) that each member of arelay race 1 /0
g travelled.
X ; Y=,
x 8 2 16— /8
X - X
X X X S x ox N 20/ _2
1, 2, 3 4 ) x X zZ 3 30— /3
Ts T Vs s =1 . 2 3 4 93
Q /4 /4 /4 /4 o 7
& 4 /12
Find the amount of liquid each container .
- How far would each person have run if the 10, _5
would have if if the total amount were dig distributed 2 5, /18 = /9
redistributed equally. IStances were distribuited eventy
%
6 30
3) Theline plot below showsthe poundsof  4) Theline plot below shows the weight (in
candy a group of friends received. tons) of boxes on pallets.
m
8
X g X 3
1
X X X X X X X =
X X X IE‘ 1 2 3 E
x  x x = 75 73 7 @
Q
A A . .
87378 If the weight were redistributed evenly,
) how much weight would be on each pallet?
If they split the total amount of candy
evenly, how much would each friend get?
5) Theline plot below showstheweight (in  6) Nancy tore a sheet of paper into different
grams) of vitamin bottles. length pieces. The line plot below shows
m the length (in inches) of each piece.
x g 7
X X 1 X >
[N X
X X X w X I
S =
Y % % s x X X X 3
If you were to redistribute the vitamins, so
each bottle weighed the same amount, how If she had tore the sheet into equal sized
heavy would each bottle be? pieces, how long would each piece be?
1-6 [83[67]50(33[17] 0 |
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C:h Distributing Line Plot Values Name:

Solve each problem. Answers
1) Theline plot below shows the amount of 2) Lanatore a sheet of paper into different
water a plant received (in cups) over the length pieces. The line plot below showsthe || 1.
course of {8} days. length (in inches) of each piece.
m [ 2
X X ?:gy X §
X X
X X X I X 1l
X X '5 X X 5_ 3.
AR h % % B
4,
Find how many cups of water the plant If she had tore the sheet into equal sized
would have received if it got the same pieces, how long would each piece be? 2
amount each day.
6.
3) Theline plot below showstheweight (in 4) The line plot below shows the weight (in
kilograms) that each cabinet shelf is grams) of vitamin bottles.
holding. m
8
X X =
m X
X & X X I
= ~
X X X X w
1 %
x . % % % % % b
X X X g_[)r
2
vy y L L
3 /3 /3 If you were to redistribute the vitamins, so
each bottle weighed the same amount, how
Find the amount of weight each shelf heavy would each bottle be?
would have if the weight were
redistributed equally.
5) Adam cut aropeinto different lengths.  6) The line plot below shows the weight (in
Theline plot below shows the length (in tons) of boxes on pallets.
feet) of the cut pieces. g
>
m X X I><I
x B8 X X X g
x 3 1 2 3 5, 9
x x x g /4 /4 /4 /4 E
X X g
L2 3 4 O If the weight were redistributed evenly, how
v e much weight would be on each pallet?
If he had cut the rope so each piece was
the same length, how long would each
piece be?
1-6 [83[67]50(33[17] 0 |
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Distributing Line Plot Values

Name:

Answer Key

Solve each problem.

1) Theline plot below shows the amount of 2) Lanatore a sheet of paper into different

3)

5)

[ M ath ] www.CommonCoreSheets.com 2

water a plant received (in cups) over the
course of {8} days.

m
X x§
x x x
X X x B
g
1 2 3
/s 75 7

Find how many cups of water the plant
would have received if it got the same
amount each day.

The line plot below shows the weight (in 4)
kilograms) that each cabinet shelf is
holding.

m
X 8
=
X X
I
X =
X X X g’r
e
1 2 3
75 T3 s

Find the amount of weight each shelf
would have if the weight were
redistributed equally.

Adam cut aropeinto different lengths.  6)
The line plot below shows the length (in
feet) of the cut pieces.

m

x &

>

X  x

1

X X X =

X X X g

1 2 3 4 @
7/ /Y A

If he had cut the rope so each piece was
the same length, how long would each
piece be?

length pieces. The line plot below shows the
length (in inches) of each piece.

Y

X =

X

X

'—\

X ng;,_
3

1/3 2/3 /3 ©

If she had tore the sheet into equal sized
pieces, how long would each piece be?

The line plot below shows the weight (in
grams) of vitamin bottles.

m
8

X X =

X

X X 1l

-

X X w

1 2 3 4 5 2
e N e Y % o

If you were to redistribute the vitamins, so
each bottle weighed the same amount, how
heavy would each bottle be?

The line plot below shows the weight (in
tons) of boxes on pallets.

yoes

BIEdAT = x

If the weight were redistributed evenly, how
much weight would be on each pallet?

Answers

1-6 [83[67]50(33[17] 0 |
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Distributing Line Plot Values

Name:

Solve each problem.

1) Theline plot below shows the weight (in
tons) of boxes on pallets.

m
8

X X =

X

X X X

X X X

1, 2, 3 4, 5 g
s Vs Tl Ts B

If the weight were redistributed evenly,
how much weight would be on each pallet?

3) Theline plot below shows the pounds of

candy a group of friends received.

X
X X X X

pusll} T = x ydeg

If they split the total amount of candy
evenly, how much would each friend get?

5) Theline plot below shows the weight (in
kilograms) that each cabinet shelf is

holding.

g
X >

X
X X 1
X X 5
1 2 3 4 (08
A A A

Find the amount of weight each shelf
would have if the weight were redistributed

equally.

Answers

2) Oliver cut aropeinto different lengths. The
line plot below shows the length (in feet) 1.
of the cut pieces.

m 2.
X 8
>
X X
x X lﬂ\ 3.
3
X X X
3
AR 4

If he had cut the rope so each piece wasthe || 5-
same length, how long would each piece
be? 6.

4) Theline plot below shows the distance (in
miles) that each member of arelay race

travelled.
m
3
0
X X
X X ,ﬂ‘
X X (3%
l/5 2/5 35 4/5 5/5 S

How far would each person have run if the
distances were distributed evenly?

6) Theline plot below shows the amount of
water a plant received (in cups) over the
course of {10} days.

X m
x g
x x
X X x =
W)
X X x &
1 2 3
s T3 s

Find how many cups of water the plant
would have received if it got the same
amount each day.

[ M ath ] www.CommonCoreSheets.com
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Distributing Line Plot Values

Solve each problem.

1) Theline plot below shows the weight (in
tons) of boxes on pallets.

m
8

X X =

X

X X X

X X X

1, 2, 3 4, 5 g
s Vs Tl Ts B

If the weight were redistributed evenly,
how much weight would be on each pallet?

3) Theline plot below shows the pounds of

candy a group of friends received.

X X X X

pusll} T = x ydeg

If they split the total amount of candy
evenly, how much would each friend get?

5) Theline plot below shows the weight (in
kilograms) that each cabinet shelf is

holding.

g
X >

X
X X 1
X X 5
1 2 3 4 (08
A A A

Find the amount of weight each shelf
would have if the weight were redistributed

equally.

Name. Answer Key
Answers
2) Oliver cut aropeinto different lengths. The 31
line plot below shows the length (in feet) || 1. /a0
of the cut pieces.
14, _1
m 2 /28 = /5
x 8
x X 11
% x " 3 /0
X X X ae
a 20, _2
v Y Y ® 4 /30 =73
7,
If he had cut the rope so each piece wasthe || 5- 20
same length, how long would each piece
21 _7
be? 6. /%= "10

4) Theline plot below shows the distance (in
miles) that each member of arelay race

travelled.
m
3
0
X X
X X ,ﬂ‘
X X (3%
l/5 2/5 35 4/5 5/5 S

How far would each person have run if the
distances were distributed evenly?

6) Theline plot below shows the amount of
water a plant received (in cups) over the
course of {10} days.

X m
x g
x x
X X x =
W)
X X x &
1 2 3
s T3 s

Find how many cups of water the plant
would have received if it got the same
amount each day.

[ M ath ] www.CommonCoreSheets.com
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C:h Distributing Line Plot Values Name:

Solve each problem. Answers
1) Rachel tore a sheet of paper into different  2) Theline plot below shows the weight (in
length pieces. The line plot below shows tons) of boxes on pallets. 1
the length (in inches) of each piece.
X g 2.
X m X i‘
X § X 1
X X ﬁ X o 3
'_\ E
X X T X X .‘i
a
75 73 7
If the weight were redistributed evenly, 5.
If she had tore the sheet into equal sized how much weight would be on each pallet?
pieces, how long would each piece be? 6.
3) Theline plot below showsthe poundsof  4) Dave cut aropeinto different lengths. The
candy a group of friends received. line plot below shows the length (in feet)
of the cut pieces.
m
X 3 m
X X X X §
1 X
X X - X X X X I
X X X § X 5_
Y % % % % % % % % % 8
If they split the total amount of candy If he had cut the rope so each piece was the
evenly, how much would each friend get? same length, how long would each piece
be?
5) Theline plot below showsthe amount of  6) Theline plot below shows the distance (in
liquid (in liters) in different containers. miles) that each member of arelay race
g travelled.
=5 m
x &
X ,E\ X 3
X x x x 9 x X ,1
2 =
A A AN AN ~ *_ 3
: AR
Find the amount of liquid each container How f \d eech h i th
would haveif if the total amount were d_;w arwou O?a; _tfir:don avle;un It the
redistributed equally. IStances were distributed evenly
1-6 |83]|67]|50[33[17] 0|
[ Math ] www.CommonCoreSheets.com 4




C:h Distributing Line Plot Values Name: Answer Key
Solve each problem. Answers

1) Rachel tore a sheet of paper into different  2) Theline plot below shows the weight (in 20
length pieces. The line plot below shows tons) of boxes on pallets. 1. /7
the length (in inches) of each piece.

X B
X m X >
?-; X
x = X I 21/
x P 3 40
X X X 3
'_\
x x SIR" X X 2 27, 3
1X 2>< 3>< 3 AR 4. 45— /5
/3 /3 /3 14/
If the weight were redistributed evenly, 5. 25
If she had tore the sheet into equal sized how much weight would be on each pallet? 13
pieces, how long would each piece be? 6. /. 24

3) Theline plot below showsthe poundsof  4) Dave cut aropeinto different lengths. The
candy agroup of friends received. line plot below shows the length (in feet)
of the cut pieces.

m
X 9237 én
X X X X >
1 X
X X - X X X X I
X X X § X 5_
o % % % % o % % % % % 8
If they split the total amount of candy If he had cut the rope so each piece was the
evenly, how much would each friend get? same length, how long would each piece
be?

5) Theline plot below showstheamount of  6) Theline plot below shows the distance (in

liquid (in liters) in different containers. miles) that each member of arelay race

g travelled.
=) m
x 8

X 1 =l
[ x x

X x x x 9 x X ,1
& X x =

]/5 2/5 3/5 4/5 5/5 % %
2 Y %W % Y% 8

Find the amount of liquid each container
would haveif if the total amount were
redistributed equally.

How far would each person have run if the
distances were distributed evenly?

4 1-6 [83[67]50(33[17] 0 |
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Solve each problem. Answers
1) Theline plot below shows the amount of 2) Theline plot below shows the pounds of
liquid (inliters) in different containers. candy a group of friends received. 1
m
]
X > X '58” 2.
X 1 X =
[EEY X
X X 0O X I
X X X .% X ; 3
= )
Zo T T Vo2 X 2
Y% % 4
Find the amount of liquid each container
would have if if the total amount were If they split the total amount of candy 5.
redistributed equally. evenly, how much would each friend
get? 6.

3) Vanessatore asheet of paper into different  4) Theline plot below shows the weight (in
length pieces. The line plot below shows the grams) of vitamin bottles.

length (in inches) of each piece. an
g X
X = X X X 1
X -
X I X W
X X 5 :I/ 2 3/ %
L 2, 3, 4 5 8 373 3@
If you were to redistribute the vitamins,
If she had tore the sheet into equal sized so each bottle weighed the same amount,
pieces, how long would each piece be? how heavy would each bottle be?

5) Theline plot below shows the weight (in 6) Jerry cut aropeinto different lengths.
tons) of boxes on pallets. The line plot below shows the length (in

g feet) of the cut pieces.

=5
X i 3 E X %
W n g R
Y Y % % &

If the weight were redistributed evenly, how

much weight would be on each pallet? _
If he had cut the rope so each piece was

the same length, how long would each
piece be?

16 [83]67[50[33][17] 0]
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1)

3)

5)

Distributing Line Plot Values Name. Answer Key
Solve each problem. Answers
The line plot below shows the amount of 2) Theline plot below shows the pounds of 20 5
liquid (in liters) in different containers. candy agroup of friends received. /5= /s
m
X % X 5;” 5/15 = ]/3
- ! ~ ]
X X 0O X I 11
X X X .% X ; /20
5 o)

l/4 2/4 3/4 44 & x o 15/ :5/
Find the amount of liquid each container 11/
would have if if the total amount were If they split the total amount of candy 15
redistributed equally. evenly, how much would each friend 16 5

get? /on =7
Vanessatore a sheet of paper into different  4) Theline plot below shows the weight (in
length pieces. The line plot below shows the grams) of vitamin bottles.
length (in inches) of each piece. an
m x =
X ;87 X X X 1
X -
X I X X @
= Q
x 3 % % s
l/5 2/5 3/5 4/5 5/5 ®
If you were to redistribute the vitamins,
If she had tore the sheet into equal sized so each bottle weighed the same amount,
pieces, how long would each piece be? how heavy would each bottle be?
Theline plot below shows the weight (in 6) Jerry cut aropeinto different lengths.
tons) of boxes on pallets. The line plot below shows the length (in
g feet) of the cut pieces.
X X % '58”
X X = X >
5 X X I
]/3 2/3 3/3 § x x x 5
L 2, 3 4 &
If the weight were redistributed evenly, how RO
much weight would be on each pallet? _
If he had cut the rope so each piece was
the same length, how long would each
piece be?
1-6 |83]|67]|50[33[17] 0|
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Distributing Line Plot Values

Name:

Solve each problem.

1) Theline plot below shows the pounds of 2) Theline plot below shows the amount of

3)

5)

[ M ath ] www.CommonCoreSheets.com 6

candy a group of friends received.

m
8
=5
X X le
X X =
=
1 2 3 o
2NN

If they split the total amount of candy
evenly, how much would each friend
get?

The line plot below shows the weight (in 4)
grams) of vitamin bottles.

m
3
X X =
X
X X 1
'_\
X X X
o)
1 2 3 =
7 7 Y% o

If you were to redistribute the vitamins,
so each bottle weighed the same amount,
how heavy would each bottle be?

The line plot below shows the amount of 6)
water a plant received (in cups) over the
course of {4} days.

Req T = x yoeg

Find how many cups of water the plant
would have received if it got the same
amount each day.

liquid (in liters) in different containers.

m
3
X >
X
X X 1l
H
X X X e}
o
X X X =
Q.
1 2 3 4 3
Jo Ty Ty 7, R

Find the amount of liquid each container
would have if if the total amount were
redistributed equally.

Mike cut arope into different lengths. The
line plot below shows the length (in feet) of
the cut pieces.

m

8

=5

X X

X X X ,1
1 2 3 4 5 R
2 A AN

If he had cut the rope so each piece was the
same length, how long would each piece be?

The line plot below shows the weight (in
kilograms) that each cabinet shelf is holding.

X X X

X X X X
X

JPUS T = x yoeg

NS
NS
NG
RS

Find the amount of weight each shelf would
have if the weight were redistributed equally.

Answers

1-6 [83[67]50(33[17] 0 |
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Distributing Line Plot Values

Name:

Answer Key

Solve each problem.

1) Theline plot below shows the pounds of 2) Theline plot below shows the amount of

3)

5)

[ M ath ] www.CommonCoreSheets.com 6

candy a group of friends received.

m
8
=5
X X le
X X =
=
1 2 3 o
2NN

If they split the total amount of candy
evenly, how much would each friend
get?

The line plot below shows the weight (in 4)
grams) of vitamin bottles.

m
3
X X =
X
X X 1
'_\
X X X
o)
1 2 3 =
7 7 Y% o

If you were to redistribute the vitamins,
so each bottle weighed the same amount,
how heavy would each bottle be?

The line plot below shows the amount of 6)
water a plant received (in cups) over the
course of {4} days.

Req T = x yoeg

Find how many cups of water the plant
would have received if it got the same
amount each day.

liquid (in liters) in different containers.

m
3
X >
X
X X 1l
H
X X X e}
o
X X X =
Q.
1 2 3 4 3
Jo Ty Ty 7, R

Find the amount of liquid each container
would have if if the total amount were
redistributed equally.

Mike cut arope into different lengths. The
line plot below shows the length (in feet) of
the cut pieces.

m

8

=5

X X

X X X ,1
1 2 3 4 5 R
2 A AN

If he had cut the rope so each piece was the
same length, how long would each piece be?

The line plot below shows the weight (in
kilograms) that each cabinet shelf is holding.

X X X

X X X X
X

JPUS T = x yoeg

NS
NS
NG
RS

Find the amount of weight each shelf would
have if the weight were redistributed equally.

Answers
6/12 - 1/2
21/40
12/21 - 4/7
12/20 - 3/5
14/16 - 7/8
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C:h Distributing Line Plot Values Name:

Solve each problem. Answers
1) Theline plot below showsthe distance (in  2) Theline plot below shows the amount of
miles) that each member of arelay race liquid (in liters) in different containers. 1.
travelled. 5%”
m oy
] X o 2.
X X =
X X 0
= X X o
X X X =z é 3.
1 2 3 4 '
%W % % % % B OO
® 4,
. Find the amount of liquid each container
How far would each person have run if the haveif if th
distances were distributed evenly? would haveif if the total amount were 5,
’ redistributed equally.
6.
3) Billy cut aropeinto different lengths. The 4) Paige tore a sheet of paper into different
line plot below shows the length (in feet) length pieces. The line plot below shows
of the cut pieces. the length (in inches) of each piece.
m
B -
X =2 X
% x  x X xoxoxoox 0
- % % % % §
(0]
14 2/4 3/4 4/4 @
If she had tore the sheet into equal sized
If he had cut the rope so each piece wasthe pieces, how long would each piece be?
same length, how long would each piece
be?
5) Theline plot below showsthe poundsof  6) Theline plot below shows the weight (in
candy a group of friends received. tons) of boxes on pallets.
m
8
X X X x x g_
X X X X I_th X X X I>T
A
If they split the total amount of candy 8 s
evenly, how much would each friend get? _ o
y g If the weight were redistributed evenly,
how much weight would be on each pallet?
1-6 [83[67]50(33[17] 0 |
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C:h Distributing Line Plot Values Name: Answer Key

Solve each problem. Answers
1) Theline plot below showsthe distance (in  2) Theline plot below shows the amount of 19
miles) that each member of arelay race liquid (in liters) in different containers. 1. /. 25
travelled. 5;”
; : 7
= X | 2 16
X x |>i % '(_\3
20, _5
X x X = x x % 3 /=77
%W % % % %o IR
5 5 5 5 5 15 _ 3
* o /5=7s
. Find the amount of liquid each container
How far would each person have run if the o 19
distances were distributed evenly? would have if if the total amount were 5 /28
’ redistributed equally.
1y
6 30
3) Billy cut aropeinto different lengths. The 4) Paige tore a sheet of paper into different
line plot below shows the length (in feet) length pieces. The line plot below shows
of the cut pieces. the length (in inches) of each piece.
m
B -
X =2 X
% < x le X X X X X ll
H
*_x x 3 A% % % %
If she had tore the sheet into equal sized
If he had cut the rope so each piece wasthe pieces, how long would each piece be?
same length, how long would each piece
be?
5) Theline plot below showsthe poundsof  6) Theline plot below shows the weight (in
candy a group of friends received. tons) of boxes on pallets.
m
8
X X X x x g_
X X X X I_th X X X |>T
W % % %4 -
A
If they split the total amount of candy 8 s
evenly, how much would each friend get? _ o
y g If the weight were redistributed evenly,
how much weight would be on each pallet?
1-6 [83[67]50(33[17] 0 |
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Solve each problem. Answers
1) Theline plot below shows the pounds of 2) Roger cut arope into different lengths.
candy a group of friends received. Theline plot below shows the length (in |f 1.
feet) of the cut pieces.
x g o 2
X = X X =
X X
X 1 X X 1
[l = 3
X X = X X X X g
x x x x B2 1, 2, 3 4 &
a Ty Ty Ty /y ©
Y T Y 4.
If he had cut the rope so each piece was
If they split the total amount of candy evenly, the same length, how long would each || >
how much would each friend get? piece be?
6.

3) Theline plot below shows the amount of 4) Theline plot below shows the weight (in
water a plant received (in cups) over the grams) of vitamin bottles.
course of {8} days.

m

< 8

X '58” X X X

o3 I

X X X X X e

X X . x x

[ =

X X x O 1 2 3 )
- . - 2 /s 3 s

/s 75 /s

If you were to redistribute the vitamins,
Find how many cups of water the plant would so each bottle weighed the same amount,
have received if it got the same amount each how heavy would each bottle be?

day.

5) Oliviatore a sheet of paper into different 6) Theline plot below shows the weight (in
length pieces. The line plot below shows the tons) of boxes on pallets.

length (in inches) of each piece. g
B x x
> 1
X X X X X X [
X X |E\ 1 2 3 4 E
1 2 3 4 5 2 /4 /4 /4 /4 a
If the weight were redistributed evenly,
If she had tore the sheet into equal sized how much wei ght would be on each
pieces, how long would each piece be? pallet?

16 [83]67[50[33][17] 0]
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C:h Distributing Line Plot Values Name: Answer Key

Solve each problem. Answers
1) Theline plot below shows the pounds of 2) Roger cut arope into different lengths. 2, _ 2
candy agroup of friends received. The line plot below shows the length (in || 1. /36 = /3

feet) of the cut pieces.

18 -9
x g 7 2. /="
X = X X =5
X X
X 1 X X 1 13/
X X ;h X X X X 5 3 24
x x x x 2R 17,
Y/ A A 4. 21
If he had cut the rope so each piece was 13/
If they split the total amount of candy evenly, the same length, how long would each || > 30
how much would each friend get? piece be?

8, _1
6. /16_/2

3) Theline plot below shows the amount of 4) Theline plot below shows the weight (in
water a plant received (in cups) over the grams) of vitamin bottles.
course of {8} days.

m

< 8

X '58” X X X

3 i

X X X X X e

X X . x x

[ =

X X x O 1 2 3 )
- . - 2 /s 3 s

/s 75 /s

If you were to redistribute the vitamins,
Find how many cups of water the plant would so each bottle weighed the same amount,
have received if it got the same amount each how heavy would each bottle be?

day.

5) Oliviatore a sheet of paper into different 6) Theline plot below shows the weight (in
length pieces. The line plot below shows the tons) of boxes on pallets.

length (in inches) of each piece. g
B x x
> 1
X X X X X X [
x x X X - L 2, 3 4 9
1 2 3 4 5, 2 R 2
If the weight were redistributed evenly,
If she had tore the sheet into equal sized how much wei ght would be on each
pieces, how long would each piece be? pallet?

16 [83]67[50[33][17] 0]
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C:h Distributing Line Plot Values Name:

Solve each problem. Answers
1) Theline plot below showsthe 2) Theline plot below shows the amount of water
distance (in miles) that each member aplant received (in cups) over the course of {7} || 1.
of arelay race travelled. days.
m
o 8 2,
X ?_—i X X X ?(_
X I
X 1] X X4 3
SR %% % % % 8 |
X X X g
L2 3 & . 4.
3 /3 73 Find how many cups of water the plant would
have received if it got the same amount each
How far would each person have run day. 5.
if the distances were distributed
evenly? 6.
3) Paigetore asheet of paper into 4) Theline plot below shows the weight (in tons)
different length pieces. The line plot of boxes on pallets.
below shows the length (in inches) of g
each piece. o ™
m X X X X IE‘
x 8 g
X 3 ]/5 2/5 3/5 4/5 5/5 a
X X X ,1
X X SIR" If the weight were redistributed evenly, how
1, 2, 3 O much weight would be on each pallet?
75 73 7
If she had tore the sheet into equal
sized pieces, how long would each
piece be?
5) Theline plot below showstheweight 6) Theline plot below shows the amount of liquid
(in grams) of vitamin bottles. (in liters) in different containers.
m
8
X X X X X IE\
X X .1 X X X x 9
o =1
x x * 8 Ve % % Y 2
T T :
" odistribute th Find the amount of liquid each container would
_you_ were to redisir utet. © haveif if the total amount were redistributed
vitamins, so each bottle weighed the
equally.
same amount, how heavy would each
bottle be?
1-6 [83[67]50(33[17] 0 |
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C:h Distributing Line Plot Values Name: Answer Key

Solve each problem. Answers
1) Theline plot below shows the 2) Theline plot below shows the amount of water 11
distance (in miles) that each member aplant received (in cups) over the course of {7} || 1. /. 21
of arelay race travelled. days.
g Y=Y,
55' 8 2. 35 5
X = X X X %
X I
X m X X - ]_4/ _ 7/
3. 24— /12
g % % % % % 8
x _x x § 12
Yo % % 8 - : /25
3 73 /3 Find how many cups of water the plant would
have received if it got the same amount each 13/
How far would each person have run day. 5. 24
if the distances were distributed 17
evenly? 6. /. 24
3) Paigetore asheet of paper into 4) Theline plot below shows the weight (in tons)
different length pieces. The line plot of boxes on pallets.
below shows the length (in inches) of g
each piece. o X
m X X X X IE‘
x 8 g
X 3 ]/5 2/5 3/5 4/5 5/5 a
X X X ,1
X X SIR" If the weight were redistributed evenly, how
1, 2, 3 O much weight would be on each pallet?
75 73 7
If she had tore the sheet into equal
sized pieces, how long would each
piece be?
5) Theline plot below showstheweight 6) Theline plot below shows the amount of liquid
(in grams) of vitamin bottles. (in liters) in different containers.
m
8
X X X X X IE\
X X .1 X X X x 9
o =1
x x * 8 Ve % % Y 2
Y % % s
" odistribute th Find the amount of liquid each container would
 youweretoredisiribute the haveif if the total amount were redistributed
vitamins, so each bottle weighed the
equally.
same amount, how heavy would each
bottle be?
1-6 [83[67]50(33[17] 0 |
[ Math ] www.CommonCoreSheets.com 9




C:h Distributing Line Plot Values Name:

Solve each problem. Answers
1) Theline plot below showsthe weight (in 2) Theline plot below shows the amount of
kilograms) that each cabinet shelf is water a plant received (in cups) over the 1
holding. course of {8} days.
o m 2.
X X § X X 933
X X
X X 1 X X X "
X X X 5 X X '5 3.
Y U % U & % % % % % S
4,
Find the amount of weight each shelf Find how many cups of water the plant would
would have if the weight were have received if it got the same amount each || >
redistributed equally. day.
6.

3) Theline plot below shows the amount of 4) The line plot below shows the weight (in

liquid (in liters) in different containers. grams) of vitamin bottles.

m m

8 8

=5 >

X X X X

x ox [ X X X -

X x x O w
]/3 2/3 3/3 a

If you were to redistribute the vitamins, so
Find the amount of liquid each container each bottle weighed the same amount, how
would haveif if the total amount were heavy would each bottle be?
redistributed equally.

5) Theline plot below shows the poundsof 6) Theline plot below shows the weight (in

candy a group of friends received. tons) of boxes on pallets.
g B
X = X X =
X X
X 1 X X 1
- -
X X X = X X X
5 s o
If they split the total amount of candy If the weight were redistributed evenly, how
evenly, how much would each friend much weight would be on each pallet?
get?

10 1-6 [83[67]50(33[17] 0 |
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Distributing Line Plot Values

Name:

Answer Key

Solve each problem.

1) Theline plot below showsthe weight (in 2) Theline plot below shows the amount of

3)

5)

[ M ath ] www.CommonCoreSheets.com

kilograms) that each cabinet shelf is
holding.

g
X X =

X
X X I
X X X 5
1 2 3 4 D
A A A

Find the amount of weight each shelf
would have if the weight were
redistributed equally.

The line plot below shows the amount of 4)
liquid (in liters) in different containers.

X
X
X
JAURIOD T = x Uoed

VAN

Find the amount of liquid each container
would haveif if the total amount were
redistributed equally.

The line plot below shows the pounds of  6)
candy a group of friends received.

m

8

X o0

X

X

H

X X X =
1 2 3, 3
VA -

If they split the total amount of candy
evenly, how much would each friend
get?

water a plant received (in cups) over the
course of {8} days.

-
X X ?:3-
X x x
X X =

)]

i, 2, 3, 4, 5

o % % % %

Find how many cups of water the plant would
have received if it got the same amount each

day.

The line plot below shows the weight (in
grams) of vitamin bottles.

m
3
=5
X X |><|
X X X [N
S
1 2 3 4 e}

If you were to redistribute the vitamins, so
each bottle weighed the same amount, how
heavy would each bottle be?

The line plot below shows the weight (in
tons) of boxes on pallets.

m

8

X X =

X

X X 1

X X X -

g

1 2 3 4 D
oy Y, Y B

If the weight were redistributed evenly, how
much weight would be on each pallet?

Answers

10

1-6 [83[67]50(33[17] 0 |
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